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QUESTION 1

An endpoint device requests an address by using DHCP. What is the first message the client sends to initiate this
process? 

A. DHCPREQUEST 

B. DHCPQUERY 

C. DHCPDISCOVER 

D. DHCPOFFER 

Correct Answer: C 

 

QUESTION 2

Which settings enable a network administrator to use terminal emulation software to interface with an HP Comware
switch\\'s auxiliary port? 

A. 9600 bps, 7 data bits, 1 stop bit, no parity, flow control 

B. 14,200 bps, 8 data bits, 1 stop bit, parity, flow control 

C. 9600 bps, 8 data bits, 1 stop bit, no parity, no flow control 

D. 9600 bps, 8 data bits, 1 stop bit, parity, flow control 

Correct Answer: C 

 

QUESTION 3

Refer to Exhibit. 
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The server shown in the exhibit requires redundant links, and The link aggregation should use LACP. What should the
administrator configure on the 1RF virtual switch? 

A. a bridge aggregation interface that uses static link aggregation mode 

B. a bridge aggregation interface that uses dynamic link aggregation mode 

C. two interfaces that are set to trunk for the port-link type 

D. two interfaces that are set to hybrid for the port-link type 

Correct Answer: B 

 

QUESTION 4

What is the maximum number of active links supported between a device and HP ProVision switches when distributed
trunking is used to connect the device to the ProVision switches? 

A. Two 

B. Four 

C. Six 

D. Eight 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. 
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A network administrator has implemented link aggregation on an HP Comware switch using LACP. The two ports are
functioning at the data link layer between the Comware switch and its neighboring switch. The administrator executes
the display link-aggregation verbose command and notices the flags shown in the exhibit. 

What does this indicate? 

A. The links are up, but both links are blocked by LACP. 

B. The links are up, but are blocked because they are using duplicate operational keys. 

C. The links are up, but LACP negotiation has failed on them. 

D. The links are up, but LACP is not configured on this link aggregation. 

Correct Answer: D 
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